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Which of the following are the elements of soul according to Plato ?
(A) Self love, Sympathy, Rationality
(B) Appetite, Rationality, Sympathy
(C) Rationality, Spirit, Appetite
(D) Rationality, Sympathy, Spirit
BedNT B,590 IYNT 030D BT, WOSND ?
(A) m;a;em, IO, 502336%3" (B) e, %asv@éé’, ITOT

(&) ﬁe)zsvae’é’, 23:533&3, SYRIEN (D) ﬁe}mae’é’, L DTOT, 23:5'3‘56

Aristotle’s classification of governments is based on which of the following criteria ?
(A) The number of rulers only
(B) The objective of the rulers only

(C) The number and the objective of the rulers

(D) None of the above
FYNT 03995 WITORNTY, WO, I AFETNY SNECTTR e3IORTI ?

(A) ©HTIT Fosd, B0,

(B) &= 0ged @wg,

(C) ©HTIT Fosd, D3Iy 0ged
(D) edF oIPPTL Yy

Which of the following is not the feature of Plato’s scheme of education ?

(A) State sponsored (B) Compulsory

(C) State directed (D) Optional
FINT oY Beedns 3T 09 TFHT UT TY ?

(A) TomBoT owdz (B) 3o

(C) ooy AWECedDI (D) maé)é

Which of the following statement is correct ?
(A) Machiavelli gave highest priority to unity of the state.
(B) Machiavelli considered state as an organism.
(C) The central theme of Machiavelli’s The Prince is justice.

(D) Machiavelli gave highest priority to the principle of equality in The Prince.
RRNFE o303 BePF =D ?
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5. Who among the following advocated limited government ?

(A) 1.J. Rousseau (B) Hegel

(C) John Locke (D) T.H. Green
i?%fﬁswdez O339TY AT AFIE TR, T,3TIOATITY ?

(A) 2228 TeRn (B) I

(C) =3¢ ezt (D) 3.5, NE®

6.  Which of the following work is considered as the technical manual of acquiring and
maintaining political power ?
(A) The Politics (B) The Prince
(C) The Leviathan (D) City of God
IPNS O30 is:):%ojw TOWICOD WHTIT 5630533@(5%% NS m@%@w%&;‘)déﬁ
ROWORIT %.%@omﬁcﬁ’ ?
(A) & Z"gj@é’)é%ﬁi B) & 2°

©) & NPT (D) &3 3556 Moce®

7.  Consider the following statements :
1. For Rousseau General Will is the will of the executive.
2. In Lockean social contract men transferred all the rights they possessed in the
state of nature to the government.
3. According to Thomas Hobbes the contract entered by men in the state of nature
is irrevocable.
Which of the statements given above is/are correct ?
(A) 1 only B) 2&3
(C) 2only (D) 3only
IINT £€5}i?n’%3§gl TOMEIRD.
I Cwdet @0 BFe0 Amng B ©0TT T203RE oNE |

2. 9% 930 AIENRT LIPTTY %ﬁﬁ?is” 933053@ TRy BRODT DY T|HYNIIY

RFTL BEIETE, SME AT,
3. oA’ T, wET [FIT JANET ASOHY wIT SRR wTET 0TI,
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8.

10.

The phrase ‘the greatest happiness of the greatest number’ is used for the first time by
(A) Priestley in Essay on Government
(B) Francis Hutcheson in Inquiry with the Original of Our Idea of Beauty and Virtue
(C) Jeremy Bentham in Fragments on Government
(D) David Hume
‘9T T'«:’O@J%étﬁ WRT WA’ B3 BTFOWTITY, T,Fe P0NR YRS wg
(A) e?g)f_'«;m 333@3 ‘eb_% 3¢ MaIE e00E3E” %ﬁ%oﬁa@

(B) TRIRT TWEI® I, ‘S, o0 DFF & wORIUT BFF w&oT wioe
e35° 2RES e;eéowe wasaég’

(C) 283w ﬁoméwss 3, érﬁﬁaoéb'i 398 NS’ Ce00e3s”’ %@oﬁa@

(D) BeNE® TR

Which of the following statements regarding Hegelian dialectic is correct ?
(A) Synthesis is a compromise between thesis and antithesis.
(B) Synthesis is outright victory of antithesis over thesis.
(C) Contradictions are obstacles in the way of truth.
(D) Contradictions are essential for understanding truth.
IRUFT BT HowoRATOS FFNT 0303 3P %O 2
(A) RIDJONY) 9T TN T,BeTE SBTED TBROTIDT
(B) RaDIONY) 0T =0 TBTTE WO
©) %’365 SINE ) azpazgéﬁ%fa SROIPN
(D) Tw’%wcﬁg{ 3PoDen a:);i)%’éﬁ% eﬂ?\’%&&)ﬁﬁ

Which of the following statement is correct with regard to T.H. Green’s Political
Philosophy ?

(A) State can make man moral.

(B) Legal recognition is essential for the rights.

(C) The chief function of state is removal of hindrances to moral life.

(D) Politics is an end in itself.
£3.0923%. NET® wET TIRACS 335%3)@% To2W0RATOS FFNT 03z BePF BOONT 2
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11. According to Mao Tse-Tung, which of the following is an example of antagonistic

contradiction ?

(A)
(B)
©
(D)

Differences between the members of Communist party.
Contradiction between the working classes and the peasantry.
Contradiction between the imperialism and colonies.

Differences between the nationalists.

TORE ) Boont WIT TWFT FYNIPYNTY 03NP ABREFT a:);ﬁa%’écﬁ YVTTOTTHB-

O3NS ?
(A)
(B)
©
(D)

12. Which of

TR, T, B ATHT SETED STIANHD

TINE T STME TN TBEME T IRTED ﬁvﬁad@éﬁ%
TRV TN TTIONT ST £Jﬁac§é
oo CODTIANY TR FIIAND

the following creates an alternative hegemony against the cultural hegemony

according to Antinio Gramsci ?

(A)
(B)
©
D)

Organic intellectuals of the working class.
Bourgeois-class intellectuals.
Traditional intellectuals.

Scholars, scientists and theorists.

0LAO3R T, QODTT TFT FYATHNGEY OIHDE F0F, 3T ©HTODFIE,
BOSE OHTR BPTOHFI[Y HAFIS ?

(A)
(B)
©

(D)
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13.

14.

Which of the following is not a feature of imperialism according to Lenin ?

(A) International cartels
(B) Finance capital
(C) Division of world

(D) Emergence of middle class in colonial countries

IR TBT IYNTINYEY 030Y T AIBRRFOEE OF, 93¢ ?

(A) @omm%@oﬁa TIRIE T NED

(B) ®39%0 WOoGwo¥

(C) =Mas defwd

(D) SEITID m%’) nyd SFED SNET YOTD

Consider the following statements relating to John Rawls theory of justice :

1.

In ‘original position’ the members are aware of their status in the society they are
going to create.

In ‘original position’ the members are not aware of their status in the society they are
going to create.

The principle of difference is related to the way social and economic inequalities are
arranged.

Which of the above statement/s is/are correct ?

(A) 1&3 (B) 1only
(C) 3only D) 2&3

2590° Toe¥, T J900T 23033, FOWORATOZ FINT ReDINYR, TOdedRD.

1.

MG)%C%OSJ Tw’dﬁ’éda To%) W00 T«g)%n’w&bmd %’M%CﬁQ 3mé@smscs 20
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15.

16.

17.

Robert Nozick advocated

(A)
©

Welfare State (B) Authoritarian State
Maximum State (D) Minimum State

ORESTE ToOPTE T BT

(A)
©

E@aésa oo (B) R0 HTO %
noE Tty (D) %‘Be—g Tz

Which of the statements relating to communitarianism is correct ?

(A)
(B)
©
D)

It advocates relational self.

It advocates universal notion of justice.

Emphasises individual rights and freedom of choice.
It advocates autonomous self

BN T0NTITE, BOWORRTOZ 03503 TedT RO ?

(A)
(B)
©
(D)

9T I LF TOHT TUFODTY, TITREI
503 AB03, B Wok,0H MWB0TF, 2.3y FARIS

T RoLOHT FFODH FUSODRY, BRI

3
@ MODT B 3oH FUFODRY, BETAEIT

Which of the following is the consequence of Feudalism during the medieval period in

Europe ?
(A)
(B)
©
(D)

Landlords became the de facto sovereigns

King became the de facto sovereign

The feudalism in Germany and Italy became uniform

Common interest became the governing principle of feudal society

BINTYNFE 0IY D 03B ReHTE ﬁaz%aé’)eﬁ NRIMEIE SBHBOH JOBIIING ?

(A)
(B)
©
(D)

HREROT Fps BOBPHEONTIHE
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18.  Which among the following is the source of power of the King according to the theory of
Divine right of King ?

(A) Church (B) People

(©) God (D) The royal priest
WORS cﬁ&be%%&s RT0ZT  BFT  FINSYINYY  oSPY  @ORS  wRTITT
RTINS ? '

(A) @s’e (B) =33

(C) Tezd (D) To% FETOT

19. Behaviouralism is closely linked to
(A) Study of what ‘ought to be’
(B) Value judgments
(C) Historical knowledge
(D) Positivism and Empiricism
SRRDT TITW) @3603 AT HOLIOG BRODTITYT
(A) HJMIEB 020TT @@505385%
(B) ﬁaé’)ea‘dsaf?&
(C) DeTrT apk 3'@
(D) VI3, TEEEINTIT TN T2 2,03¢NTTE,

20. Which of the following type of democracy is advocated by Macpherson and Pateman ?
(A) Indirect Democracy
(B) Participatory Democracy
(C) Protective Democracy
(D) Parliamentary Democracy
3 IFNIYNGD mﬁ%—-ss@m@ TR BT T,3T0AT @m@&b%ﬁ ot
O30Y® ?
(A) @—v’é’@@% %m@ab%
(B) RNT&LEDIZOD @m@z&a%
© d% 3 T BLRTLLE
(D) =ORQEOD BRThE
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21.

22.

23.

The notion of formal equality should pass the test of

(A) Need Satisfaction (B) Welfare

(C) Non-discrimination (D) Equality in outcome
VR FIWTZ0D T DIRIMITIT a’@e%

(A) e;aﬁsén’%f 3@% (B) E@aésa

(C) TTSRYLTIYD (D) TOBENG B3

Which was the focus of the study during the first phase of the study of Comparative
Politics ?

(A) Rigorous institutional comparison

(B) Use of interrelated set of concepts

(C) Better understanding of the working of political organizations

(D) Analytical and Empirical investigation
VT, T TOWTITLIT 8;9%0333(5 ESXAEAS) @*é&dé’g 8;92%0335 3003, DTOD O/ TIN ?

(A) eBBOT W0LE DO

(B) TTRG Rowol3 SOFURNY wed

(C) Towdeod RoFUSN L0 3DTHE
(D) DFenTI3 DF T03RENT 3

Who is the author of the book The Political System: An Enquiry into the state of Political
Science ?

(A) David Easton (B) Gabriel Almond

(C) Karl Deusch (D) Lucian Pye
‘D Jpdedzes 2:7?’5556 : 8:9&359 @3&50536 QR &0 & "{;3@@39 35¢ Jpde3zerd T'«J:Fi’ E@:%OSD
Sea)TTO 0339TH ?

(A) FedE® Sm (B) RO 88050
(C) s Baes® (D) &I a‘éj
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24.

25.

26.

Consider the following statements :
1. Comparative Politics is limited to the study of National Political Systems only.
2. The dimensions of comparison are multiple in Comparative politics.
3. The purpose of Comparative Politics is descriptive, explanatory and predictory.
Which of the above statement/s is/are correct ?
(A) 1&2 (B) 2only
(C) 1only D) 2&3
IINT %e@i?n’%f@l TD3eOD.
1. SOTI,T ToBTITRT @déoﬁﬁﬁ) EMI) U@%}ﬂ’%f TOWBFCOD wédé’oja 8:9%0533@&
ROWOHT.
2. DOTVST ToBTITE E’T@T‘«J’ B3O ST BeCOTMED W B3I BROD.
3. BT TokTITRT emzﬁ@s SEIETOZB, UARNB,T wHT LT DBOPFTE SN,
20T 0350w FeDI/MeH "D 2
(A) 13332 (B) 293,
© 1393 (D) 233

Inputs variables in Easton’s model of Political system consists of

(A) Legislations (B) Demands and supports

(C) Decisions (D) Judicial decisions
WHBRTONT BTSN %56\ WPRO0N  TIWICOD 32535;3053@ nY™D
WITRORT.

(A) DIRIND (B) 2de&dnsd 0@y oensd

(C) Qg oDNed (D) méobafs’ NEIEONNHD

In Britain which of the following events laid the foundation of constitutionalism ?
(A) Magna Charta of 1215
(B) The Glorious Revolution of 1688
(C) The Parliament Act of 1911
(D) Reform Act of 1832
DEIYTD FINTINYY 035953 TR BONFoZ, TSN eoTIE T3 ?
(A) 12150 mh’ﬁmg (B) 1688 T Redosm® 39,08

(©) 1911z é’)ga‘bow‘ @033 (D) 1832 T =poTme @oﬁg
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27. Which of the following is opposed to the spirit of Constitutionalism ?
(A) Totalitarian Government
(B) Decentralisation of power
(C) Responsible Government

(D) Representative Government
INIYNFE oIYD Tw’oé’)@méé%’é’oia 335%"& &da%’mﬁd’ ?

(A) ATEQTIO AFET (B) ©QTITT DFC0QLTTD

(C) %0200 BFET (D) T8I ATIET

28.  Which of the following statement is incorrect ?

(A) In United States the constitution specifies the powers of federal government and
assigns the residuary powers to the states.

(B) In Canada the constitution enumerates the powers of the provinces and assigns
the residuary powers to the Centre.

(C) The powers of both the Centre and States are enumerated in the Constitution of
India.

(D) In Australia the powers of the states are enumerated and residuary powers are
assigned to the Federal Government.

29NS oIs BedE IS 2

(A) @030 FONFITEY ROOINT  IIETT  WRTITNIIY QTR
BeERTITNITY mzséﬁé’;ﬁ RT3,

(B) 3IS®m BONTOTHD) TONY WPTIONYRY TR BeTWTIONYTY, 503,
R

(C) RTT FoEIRTE Feor, w03y T2 ATBT WRFTITMER NTR2B=NT

(D) @_393, NaleMpiald) TOBNY WHTIONYY VTR BETWHTITNFDY, AONFITY
HOOINT T TE, R
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29. Which of the following explains ‘Filibustering’ ?
(A) Special judicial power of the American Senate
(B) Preventing the passage of a bill by long speeches
(C) Special power of the House of Lords in Britain

(D) The power of Senate to refuse a duly elected member to sit in the house.
‘e%)é’)w—-?’s@orﬁ’ DT, TINT O3PIT 89T 2

(A) @030 BT QATHT DJeR TONT WPTIT

(B) emd%zg LPRD B PRLTBOD ©ONETITITY SEO30T)

(C) DT ©F00TT FIo NBeaWHTT

(D) ARZ 2e303d 2HT0DI ﬁw:’gﬁaﬁoj:@ %’3@33%@%@03 BTOINR AN 9PTIT

30. Who coined the term ‘Political Socialisation’ ?

(A) Lucian Pye (B) H.H. Hyman

(C) Harold Lasswell (D) Gabrial Almond
‘TR BCO AOIIVRCTTED” D0 _"wda‘@l?«é)%%dm 033900 ?

(A) ©RIODIE a‘éj (B) 23%.6023°. %v;aa@

(©) £m®g @3@%"@9 (D) ROOI® o’

31. “Democracy in India is only a top-dressing on the Indian soil, which is essentially
undemocratic.” — Who made this remark ?
(A) Rajendra Prasad (B) M.K. Gandhi
(C) B.R. Ambedkar (D) M.N. Roy
‘QPTIT  ¢leod e ngm%ﬁowm Fem© fm’e&dtﬁ, BSTTR WITHIYN

BpoBHI Y’ St BeDF OO 2

(A) Ovdeod, BEaT® (B) =m0z, o8
(C) D.e50¢. wordecs,of (D) 20.0%°. T033®
32. The concept developed by Vinayak Damodar Savarkar is

(A) Hindu Rashtra (B) Hindutva

(C) Hindu Oligarchy (D) Hindu Hegemony
DTIONT FTORRLTT TOWIET? T[T NTIA BRAT TOTUT

(A) omwn ma’é) (B) 3ooc333;

(C) &omn @g&sm@ﬁ% D) omw e;e@ﬁ%
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33. Aurobindo Ghosh was defended in the Alipur conspiracy case by

(A) Motilal Nehru (B) Jawaharlal Nehru
(C) Chittaranjan Das (D) Tej Bahaddur Sapru
9OPYT 23PDOD fwé%’ﬁ:oﬁa@ TDORR FRCR® BT BT VT RPRTTO
(A) RReSeNE IBTP (B) %e0®TUS IBTH
(O) BSTons GoA® (D) 3eest WBBRT® TG,

34. Who among the following conceptualized ‘partyless democracy’ ?

(A) M.N. Roy (B) Mahatma Gandhi

(C) B.R. Ambedkar (D) Jayaprakash Narayan
‘o—v’is;d%oé @m@’)&b%’ o] Eegﬁ QCRTTTY 03T ?

(A) R0.0FF. TIOS® (B) m@:@é [aplelA)

(C) D.e50¢. wordecsof (D) ®ONT,FoBE TITIONED

35. Cultural revolution in China during 1966-1976 according to Mao Tse Tung aimed at the
elimination of ‘Four Olds’. Which of the following is not one of the ‘four olds’ ?

(A) Old ideas (B) Old customs

(C) Old classes (D) 0Old values
APV :% 200N T BFIT 1966-1976 dﬁﬁaojadé’g a%emdé’g SBT3 mo—-’Nw@B‘ ERJeklew engees
‘Qoen, TLONTT’ VW UTeINT. i?%?ﬁﬁ@ﬁ@é@ OIDIHTH “ToeR, TLODT’ Q) ?

(A) TLSOD NWOTNH (B) Lo HOBTODMH
(C) ™SO INeEnsd (D) BLOD SIPYMED

36. Which of the following theorists developed the notion of ‘circulation of elites’ ?

(A) Vilfredo Pareto (B) Robert Michels
(C) Talcott Parsons (D) Emile Durkheim
‘Nea0 SOTEED’ 202 TOFYTONTY IYNT 0398 AW08 DFIXBRATS ?
(A) QFF e B3N (B) To2sfe an3e®
(C) @53t ToRERT, (D) Q0O BIS 0
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37.

38.

39.

Which of the following dependency theorists used the terms ‘Satellite’ and ‘Metropolis’ ?
(A) Immanuel Wallerstein (B) Andre Gunder Frank
(C) Fernando Cardoso (D) Ernesto Laclau
3INT O3 wBeowT ARS8 AT Tne ‘Da@ptdRT dow ITNYIY
2T ?
(A) famésaoﬁaeﬁ mée)zs@?g Uwﬁ
(B) 03, THo®O? 559, 0T°
(©) Fo® méocgm TIBREAR
(D) e;9£ﬁu§3 SpEN)

Which of the following statements is not correct ?
(A) Interest groups represent a form of diffusion of power outside state.
(B) Single party system is one where all parties are legal.
(C) Coalition politics is the hall mark of multiparty system.
(D) Dominant party system is one where all parties are legal.
24N oI BB ROCIPNY ?

(A) HZ9RE MOORYND mzsér:i TRTAT 2,000 WRod WO WOTITIIY
BRI

(B) &Ea’% a’(dp%oﬁa 3637’39053@ NS 3%7\’%&@ ammwgmﬁmga"

(C) ®en,T, ToTITEREY WIDH %@oﬁa e)is;samﬁzﬁ

(D) 20303 a’% ﬁ%’%oﬁaé’) V) w%ﬂ’%&@ aa’wméﬁmﬁtﬁaga"

[3e)

—-
58
-

3
?

Which of the following is correct with regard to Bureaucracy ?
(A) permanent office holders (B) temporary office holders
(C) political office holders (D) makers of public policies
SOTTTOLD (WRATITA) 1 F0W0HITOB FFNT 0393 IeDF ADOINT ?

(A) 298 BT BRoOTTH

(B) 292,08 35 RpoLTIETHT

(C) Towsead B BROBTHIRIH

(D) AOWERAT 3@3053@ WV
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40. The boycott of public institutions like government schools, colleges, law courts by Gandhi

was part of

(A) Self-purification (B) Purification of state

(C) Non-cooperation (D) Passive Resistance
ATED SN, TSR Tonp BRCDENY ETW,T MIOHONTT T390 030e) 3O
QIPNIN ?

(A) 8;93é 253%@??68@ (B) Uozséd ESJ@GEGS@

(C) wRxTO (D) m®33cV 3’3):%&@@(5

41. What are the characteristics of Legal-Rational Bureaucracy, as propounded by Max Weber ?
1. Every official and every office is part of a hierarchy of authority.
2. An administrative agency functions in accordance with stipulated rules.
3. Offices cannot be appropriated by the incumbents as private property.
4. Administration is conducted on the basis of written documents.
Now choose the correct answer/s from the options given below :
(A) 1 only (B) land?2
(©) 1,2and 4 (D) All of the above
S503%, Fe2Tf TITHOAT FoTNTOT,T 33590 T JTOTTT0300H O, LN OIR)Y ?

I B,303R00 BZoDe TB03eL) WRTVODL WRTITE 30 L.
2. =T8T WOy AFEOT JODNY WZ 0D FooDE QS LATE
3. &én’%f@l &3 @én’%@d}a‘ﬁtﬁa 3J9AN eﬁ&oﬁaoé’ 3méd@ﬁ%€®%w WP OY
4. 8;96559333& 0D TSNy 9;935053 dcgm’wﬁagzﬁ
AOOIT YVSTHI, / NYTR IINT eﬁoﬁaﬁn’@ozﬁ 302
(A) 1398, (B) 13HR2
(©) 1,234 (D) eOIINIYIR

42. Which of the following is not an element in the Weberian model of bureaucracy ?
(A) Impersonal order (B) Hierarchy

(C) Sphere of incompetence (D) Rules
BFNTYNFE 030YY 362007 SIVTOOH FOFTTE0D WoSTY ?

(A) ﬁgn’éﬁgd ﬁéa‘*é B) %esé
© O&@Qﬁéé’-daoé %@% (D) QoeHNsd
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43.

44.

There is a date specified in the Preamble of the Indian Constitution which indicates when
the document was adopted and enacted by the Constituent Assembly of India. What is that
date ?

(A) 26™ November, 1949 (B) 26" January, 1950

(C) 15™ August, 1947 (D) 26" January, 1947
2ITT BOLTIIT 2eDF0DO BOTOS 2003RT TN LIITIT BODFIS TWT9 HeJod
TR0 7} AT DFI0T OITRYTH ?

(A) 26 3¢ IB30200%, 1949 (B) 26 3¢ =330, 1950
(C) 153 eﬁﬁﬁ;, 1947 (D) 26 3¢ 2330, 1947

Which of the following Fundamental Duties was added to the Constitution of India by the
86™ Constitutional Amendment ?

1. Duty to defend the country.
2. Duty to protect and improve the natural environment.
3. Duty to safeguard public property.
4.  Duty to provide opportunities for the education of children.
Choose the correct answer from the code given below :
(A) 1only (B) land2
(C) 1,2and3 (D) 4 only
86 IO BONTOS %d%a’@oﬁa DRVT T3 Tw’oé’)mﬁ'@% ROTE BOINT s30T
B’é?ﬁé O30Y® ?

I BeBay o8 sees

2. FFNEE DONODRY T3 RS TN DO IIET,
3. BT YO, TR TIET,

4. DB 3008, 0TS 3O T

3UNSIDOR FOOIRT LV WO

(A) 1398, (B) 1=0=232
O 1L,2=:0=%93 (D) 4598,
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45.

46.

47.

The Right to Property in the Constitution of India was taken away from the chapter on
Fundamental Rights and put as a new Article 300 A, by which Constitutional Amendment ?

(A) 1" Amendment (B) 24™ Amendment

(C) 42" Amendment (D) 44™ Amendment
P08 FODGIRT THAWLIAT BRNY OFAODR0T BROD Ty, IR 300 A e
DRODE T FONTIRT BWTR 03T ?

(A) 130D 3RT6 (B) 24 Jo» 3B

(©) 42 S0 ST (D) 44 S0 &

Which amendment to the Constitution of India added the 11" Schedule ?

(A) 42" Amendment (B) 44™ Amendment
(C) 73™ Amendment (D) 74™ Amendment
3P0 HOFITT 030 ST 11 S0 BOBFTT, ReDAT 2
(A) 42 BoD 3T (B) 44 So» 3B
(C) 73 [0 TR (D) 74 J0 TG

Which of the following is not a qualification prescribed by the Constitution of India for
election as President ?

(A) He should be a citizen of India.
(B) He should be qualified for election as a member of the Rajya Sabha.
(C) He should have completed the age of 35 years.

(D) He must not hold any office of profit.
m%ﬁ%oﬁa WOTISIBN TS HONPITeY IFNT 03395 T TESOIRN AND TRRY ?

(A) T PRTIT BRIo3PATLIe

(B) &= mzsﬁﬁoﬁa ATHDTMOE B3 BPOQTIEH
(C) 35 IRENIRY, @3@6’6%633@53

(D) o3eRTe wIm &3%0533;1 TBRODTLITT
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48.

49.

Which of the following does not fall under the Legislative Powers of the President of
India ?

(A) Power to summon or prorogue the Houses of Parliament.
(B) Power to dissolve the Lok Sabha.
(C) Power to summon a joint sitting of both Houses of Parliament.

(D) Power to grant pardons and reprieves to persons convicted of crime.

INSINIVE IR LPTSH T FoD THRAOH WHTTFY ?
(A) RHoRES RIMeD), FSOIT T INOBART WHFT
(B) cleeameiony SRR ©HTT
(C) RoRLT STRR FINY 2083 WHEST FSOMT WHFT

(D) TTIQOD é%oﬁasgl SOOTATIT TN B E0WIVEH WRFIT

According to Article 331 of the Constitution of India, the President is empowered to
nominate not more than 2 members to the Lok Sabha from the community, if he is of
the opinion that this community is not adequately represented in that House. Name the

community :
(A) Scheduled Caste (B) Scheduled Tribe
(C) Anglo-Indians (D) Most Backward Classes

1903 HoDEIE 331 o DPOD BFT THF B0 - FIVIODP FeIoDY
B2APTTNGY 02 WHT,00F, 200N SReT AN 2 3,08 BYHOZ & FS0T0PT
REATD, SeWRLIBDD. B APOTODTIY, BAOL.

(A) a’aéa’é 303 B) a’aéa’é F3lelared
©) e;eyr?@ﬁ-&o@oﬁa@da (D) @& HoDPT INENH
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50.

S1.

Read the following statements, and choose the correct answer from the options given
below :

Statement (A) : The Governor of a State has no power to grant pardons, reprieves, respites
or remission of punishments.

Statement (B) : The Governor of a State has no emergency powers to meet the situation
arising from external aggression or armed rebellion, as the President has.

Choose the correct answer from the following :
(A) (A) is true, but (B) is false.
(B) (A) is false, but (B) is true.
(C) Both (A) and (B) are true.
(D) Both (A) and (B) are false.
TSNS £€5}€n’%3§gl WD TN IV FRBUIT emgtﬁn’e;ég Eielenplasiaiaey 8;90336 eplaiel

=T (A) : eptaRey Uozséw_ae)@ﬁ é%‘;ojaabd TR TIVEI, TNOTR BT 9P ammas
IR0 WRTITRY.

=202 (B) : mzsém@@ﬁ’ m—-a&uw@ﬁ Q=03 LT, SFFHAOT VT :i@‘g) Tonnos
00ERT BORBONE TWIETOLLODH BHFITMRY.

IFNTPYNTE TO LVITTTY, SO0,
(A) (A) =D, 333 (B) SR, B) A) =P, 333 (B) ®O
(©) (A)=ZY (B)dTmead (D) (A) R (B) 2TER S,

According to Article 164(2) of the Constitution of India, the Council of Ministers shall be
collectively to the Legislative Assembly of the State.

Fill in the blank from the choices given below :

(A) Accountable (B) Duty-bound

(C) Responsible (D) Obliged
QT RONPIIT WG 164 (2) T T,39T &S RORWDY mméd NI 3N,
53&:3 BTDRY IR ART TTND0T 008D,

(A) DHPBNOT (B) sy
(C) e0eRdo3nS (D) 2390
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52.

53.

54.

According to Article 172(2) of the Constitution of India, the Legislative Council of a State
shall not be subject to dissolution. But one-third of its members shall retire on the expiry of
every ____ year.

Fill in the blank with the correct word from the choices given below :

(A) Second (B) Third

(C) Fourth (D) Fifth
QRTS RONFTINTE 172 (2) J0D NQHOD B,TOT 20T Ua&séd NPOD a’@ﬁg@l
ARERT0SY. 333 1/3 dc_:% _'N)d:jéd) B, a’ﬁgﬁ%@ gofggmﬁaégé’.
3N a’cﬁﬁ%@ Tw’bommd@l 30R0.

(A) QT (B) o

(©) e, (D) 2w

Disputes between different units of the Indian federation come under which jurisdiction of
the Supreme Court of India ?

(A) Original Jurisdiction (B) Writ Jurisdiction

(C) Appellate Jurisdiction (D) Advisory Jurisdiction
QRT3 WOO3NT Séa‘?'goia FRITNY [RORND méasén’% T-«J’Q"'@EGZ% méome)ojad o3
WQTIT AN VTS ?

(A) DR ¥QTIT PR (B) Ot3f Q30 D
(C) ween ¥QTIT méé"_,g (D) Taie)méé'é WQTIT ma@

Every Judge of a High Court shall be appointed by the President of India. In making the
appointment, the President shall not consult one among the following ? Who is he ?

(A) The Chief Justice of India

(B) The Governor of that State

(C) The Chief Justice of that High Court

(D) The Advocate-General of that State
emz;s méoSTOG)OfDZS 3’3):%03@2% méom&@%?dgl {PT3T U@"’e@)ﬁ% 30335)37«’0333. JeDTISOD
ROTIETO B3 IFNI agag)&@ofbﬁ U@E‘é}ﬁ% R PSR DY 93T OFIITY ?

(A) po3Iw m% méomfpeaﬁ

B) mméd ORIV
(C) o3 emz;s méome)osm m% méomfpees

(D) & oonG ©RLEeL® wITUF
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5S.

56.

Which Schedule of the Indian Constitution distributes the Legislative powers between the
Union and the States ?

(A) Schedule I (B) Schedule V

(C) Schedule VI (D) Schedule VII
3e0q, w03 oY JEIW YPTT HONPIIT 03393 3633’8@ TIRNEOD WHTITNYTY
BT SRETE ?

(A) 01 (B) =odg V
(C) =0dg VI (D) @odF VI

According to Article 324 of the Indian Constitution, “the superintendence, direction and
control of the preparation of electoral rolls for the conduct of elections” to which of the

following, comes under the jurisdiction of the Election Commission of India ?
(A) Parliament
(B) Parliament and State Legislatures
(C) The offices of the President and Vice-President

(D) Parliament, State Legislature, and to the offices of the President and Vice-
President.

3908 HoNGOST 324 F0 VPO IYATYNYY IR TF, WHTOBBR Foe0PRTOS
“ITT TeJod %d@é’ NREEBT T 20eDTHE” oD, WIEHD  BodReNT
2 QTIT méé’_,gr? WITRRT ?
(A) RoRI)
(B) RORZ) THomie Do SIRRRLIND
© er—é’)ﬁ% espIav¥o! wﬁm@ﬁéoﬁa @én’%
RNOA

(D) RoRZ, Tz SIRDALINGD, TINMP ToF T T YVITOF TS0 TOIND
= & & Q
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57.

58.

59.

Which of the following correctly explains the criteria of a Regional Political Party ?
(A) Restricts its area of action to a single region.
(B) Seeks to defend a regionally-based ethnic or religio-cultural identity.
(C) Is primary concerned with exploiting local sources of discontent based on
language, caste, community or religion.
(D) All of the above.
T,3edT @—-S'c;n’%f EASPIMAel eI ZFNT 03395 T AOO3N DTORTE ?
A =3 Roﬁ?%@%ﬁ@l 20T 333(5’@5%9& WINPT
(B) =2,83¢d3% S RROOT 2,000 WHIONEOD WFeD FISNE B-AI0R, (3T WR,ZOD
dfg‘f‘é’ﬁ oSD%?bgd’
(C) 2R, 208, TSVEOD WF FDE SOT wIH 7-3’596033 DDRONY
NTO3RNTE B o A
(D) 20O DY

Which Constitutional Amendment in India lowered the minimum voting age from 21 years
to 18 years ?

(A) 25" Amendment (B) 30™ Amendment
(C) 42™ Amendment (D) 61" Amendment
PUSBTE 03395 HOFITT STRTROIN HTIHTITE [OIHTY 21 00T 18 3, PRI 2
(A) 25 30D 3T (B) 30 So» &
(C) 42 0 3T (D) 61 So» SPT&

Which of the following is/are applicable to Public Interest Litigation ?
(A) The person moving the court should have a bonafide intention to protect public
interest.
(B) The issues involved should be of public nature.
(C) The Court may take suo moto action in a particular case of wrongdoing.
(D) All of the above.
ZFNTYNTE 03NY W / 03P FOTEWAT HTIRY fx@%”d@d’aﬁ eﬂ%oﬁa—fabgd’/ﬁ ?
(A) méome)oja'@& BRCTVS wgﬁ AOBEWAT HBTING 6%7«133@@02) TOFEDT
EREANTIED.

(B) @@TO030 QWODNHD e WATINT2IER
(C) S ves e SN ¥9,03DUOD S03¢ ToO3REWTH %@@%&J&m
(D) 20O DY
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60. Which of the following is/are the distinctly unitary features of the Indian Constitution ?
1. Single Citizenship;
2. Single Constitution for Union and States;
3. Single Judiciary;
4. Common All-India Services.
Choose the correct answer from the options given below :
(A) 1 only (B) 2and3

(C) 1,2and3 (D) All of the above
QT3 ﬁo&mﬁd@tﬁaaﬁ é’)ée"’gmd 536?3@%’ @%E@T\’% O30 ?

.  ©8 30,
2. OomNITH SO 300333, BOLOHATOZ 0T OGS
3. 8 Syoswon Sy
@

4. ROTN N VTS RN
é’%fﬁﬁ@n’%@oja ROOIT YVSTEIR 8;9033z§ =O&0.

A) 1393, (B) 23 3

©) L2033 (D) edT QYIP

61. Plato’s ‘Republic’ followed this approach.
(A) Legal approach
(B) Philosophical approach
(C) Historical approach

(D) Institutional descriptive approach
2ee3RC0TT DTNT® MoFey 84 8;925503355’ SIOME TTY WA da%f—w’eg)ééd’.

(A) a&@még @@505355 woINE

(B) m%‘é eﬂcséosm woINE

(C) 2038TrT eﬂcséosm woINE

(D) mo%‘é é’)mﬁmséﬁ @@50533 woINE
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62.

63.

64.

Which of the following are responsible for the increasing importance of public
administration in modern times ?
Emergence of Welfare State
Scientific and Technological Advancements
Rapid increase in population.
Economic planning.
. Nature of modern warfare
elect the Codes :

(A) 1,2,3,4and 5 (B) 1,2,3and 4

(C) land2 (D) 2 only
RRNFE YY) BWIT FTOTE) TTERIT  SHITT ﬁa%%@ £&§%@c§3&
TOTLICI NPT oSNToNs ?
1. E@aésa mzséd S [atee 2. QTR DR BoZRIT 8;92';)3@63

% = s e

3. %uR0JoNS e ez, B Y 4. SRET BrewS

5. BEHIT oG oHIE RARS

DU AW

RoBESTR, 03, k.
(A) 1,2,3,43025 B) 1,2,3=0=34
O 1==2 (D) 20598,
Who is the author of “Industrial and General Management” ?
(A) M.P. Follet (B) Gulick
(C) Mooney (D) Henry Fayol
““&OCS@)OSJGJ@ ©OTE® WITLT® mﬁewﬁaow‘” B0 TIE, 03TL ?
(A) Q0.&. Ppeddes® (B) ™Oz®
(C) =oneae (D) X, oo

“The separation between Politics and Administration has become an “Outworn Credo”.
This statement is made by
(A) Herbert Simon (B) Dwight Waldo
(C) Robert Dahl (D) L.D. White
“ToTITEY T BHEIBNY TEIS TS LTTRY AT,LM0ITY WORT” B3 TePI-

OHy, VeBTRD

(A) wwgcgsm:}ma@ (B) C%st*‘ m@g
(C) oot wer® (D) Q8. §o$‘3€
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65. Agraria-Industria Model was developed by

(A) Goswamy (B) John Gaus

(C) Fred W. Riggs (D) Edward Weidner
@@aom-aoc;@)om eeplntelosy 8:92';)39)63 a’@%’g&éd{g Ratnieleln

(A) r{@emﬁ&a (B) 20x° Ioxs

O P&° moug 5 O, (D) QBGHEE Nego®

66. The behavioural approach is also known as
(A) Human Relations Approach
(B) The New Human Relations Approach
(C) The Social Approach
(D) Systems Approach
DIE T @@50533 SRNE oy 3 DEBANOTLR BD @’)%%oﬁmﬁd’
(A) TS ROWOPNY @@50533 IASpIat
(B) 3= @503 RoW0pNY eﬂzséojaaf IpIaty
(C) TRT eﬂcséosm woINE

(D) séwm@ 8;9%0533 woINE

67. According to Ramesh. K. Arora, which of the following is not involved in the study of a
system ?
(A) The parts of a system
(B) Interactions among such parts
(C) Interactions between the system and its environment
(D) The non-interaction between a system and its environment

TXezf. 3. $TAT TSC JFoT AN ooy IEAp ©FoNIT QoD
WEIEINTIYH DY ?

(A) 2.0 wés-é’o& QPRNND

(B) ©OTT {oNne TN €00 800N

©) wéwg T3 WTT BORONY ST WoBT I 0DNED

(D) FFF D, ©TT BOFOT BT WO 0D TLIZoh,
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68. Chester Barnard classified decisions into
(A) Social and Personal decisions
(B) Social and Institutional decisions
(C) Organisational and Personal decisions

(D) Political and Administrative decisions
237«5366 NOE TP ETOD 38@?053?\’%3321 BPNECTORYH T 83 Oe&o3N

(A) TRERST THTY FEHYT AEOPTIH
(B) Roz593 03 mo%‘é NI ONNED

(C) Hohimos,E H3y HpHT Aeor oPTIH
(D) Tog3eod D, BHEITIY,T AT DT

69. Who remarked “The executive function is to develop and maintain a system of
communication” ?
(A) Herbert Simon (B) Chester Barnard
(C) Mc Farland (D) Millet
“TIONE ATETHIONT BFeD FTIONERY RNODHS ﬁésggoja eﬂa';)a;)% D) ATET

TIREFYTINT” QO WHTT,0 EITITL 03VTO ?

(A) eI 735366 (B) zé‘:gp@ WRIE TS
(C) Bz® 3o’ (D) gzt
70. Autocratic style of leadership is also known as
(A) Democratic style (B) Laissez Faire style
(C) Authoritarian style (D) Participative style
QT0BT oD TPONTIEY TAQOIPNTIYH &3 cepellel o
(A) ToR=s, %é’) (B) =ouF BRCTH @3’0@
(C) ATERTIO @2@’) (D) m@@n@aé’bé %é’)
71. Who said “Control maintains the equilibrium between ends and means, output and efforts” ?
(A) F.W. Taylor (B) Henry Fayol
(C©) G.R.Terry (D) Peter Drucker

O3V “QOPOTREY THO eNTY SNENH, YVTF, (BRTIREN,NT) DY BRLINY
ST BDZRCUTETTY TITITDZEH” DOLOTIN WHPT,0 T3 ?

(A) OF°. TR éé’de)cﬁ‘ (B) X, podeees
(C) R.e505. @3@) (D) &ee30® ©Fo®
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72.

73.

74.

75.

Which was the first country in the world to introduce the ‘Right to information” ?

(A) US.A. (B) UK.
(C) India (D) Sweden

%ﬁ%@@ IS0 TT,TY BP0 20T TOWAWAIT TET O33VYT ?
(A) 90T (B) oSwﬁJﬁw@ SON®E®
(C) ywTe (D) Rew?

The concept of “Civil Service Neutrality” is a tradition developed in :
(A) Britain (B) U.S.A.
(C) Sweden (D) India

[IMOCT R0 Sot3H) 63 3’.@5@3)30333 20T ROTTI0HEIN @i)%%oﬁmﬁdo@d& B3 C?)Q?SZS@
(A) Dt (B) 3300030
©) Agwma® (D) e»TZ

Under which system of Bureaucracy is a civil servant considered as the custodian of justice
and welfare of the community ?
(A) Patronage Bureaucracy (B) Merit Bureaucracy

(C) Caste Bureaucracy (D) Guardian Bureaucracy
OINT WRTITIL JT SO BRONE Tondes 7-3652?332[ ABVIONT méoﬁa EANCY

BRI TF, 3TN BOMEIRUONT 2

(A) SIOD ©RITITITH (B) ©xe30 ©@pTITI®H

(C) 28 9 TITL (D) TpeRT 9 TITI0
Recruitment is the “Cornerstone of the whole public personnel structure. Unless recruitment
policy is soundly conceived, there can be little hope for building a first rate staff.” This
statement is made by

(A) Glen Stahl

(B) F.M. Marx

(C) Northcote-Trevelyan Committee

(D) Fulton Committee
“ZeTTIB0IN VERE AIWEWAT 22,08 T30 @n, DTS DTWONTINT. FCeNTISOIN

,—w’d@cs(w@ag)mn’zs BRTD YVIH 20D 22,08 EIE L2TYN Q) QTOT WITTY
TR0 03 w{gﬁzﬁaga".” B3 RePIODTY, AeRTITY

(A) e =t

(B) OF°.Q&F. FFE

(C) Dosw,rees® 3N BN

(D) @)’eéae EPASE]
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76.

77.

78.

Arrange the following forms of disciplinary action in the proper order in terms of intensity :

1.  Withholding of promotion 2. Reduction in rank
3. Reprimand 4.  Dismissal from service
5. Recovery from pay 6. Removal from service
(A) 3,1,5,2,6and 4 B) 3,1,2,5,4and 6
©) 2,3,1,5,4and 6 D) 2,1,3,4,5and 6

S AT DRTD IFNYRY VDN BROAHT ATFoDTY SPITTNEHEAOR
ABEFFRE 30eR.

1 wgoday IEHROINDE 2. Beeiond 363
3. mgocsa" 4. RCTBONOT RPNRIROINZ
5. Re3IN0T 0TBOINNT 6. REZ[BONOT INROIVNT

(A) 3,1,5,2, 6334
(©) 2,3,1,5 4336

(B) 3,1,2,54R6
(D) 2,1,3,4,53R6

“A good Collector’s house was often a second home to the young Assistant Collector”
(A.D. Gorwala). This statement explains the significance of

(A) Informal training (B) Inservice training

(C) Induction training (D) Orientation training
‘2020 PVUTED WERPTIVOD MY 030 QIMEPTION SNOTNR ITHE wRFoTNEY”

(2.8. RR0P) 83 BePFoI 03YTT m\)&awéé’oja@l DTOFIA ?

(A) ©FTOB0OT ITeIe (B) Reao wnHod Ik
(C) BDW3PI,E 3ok (D) BB Scede

The concept of unity of command is complementary to the principle of

(A) Span of control
(C) Scalar chain

(B) Authority
(D) Supervision

BSREBT DTS TOTOZOI B3 I, TOIE 0PN

(A) JonoZpe T
(©) Rwo® ¥t

(B) 2,500
(D) 3ed508
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79. Match the following :

List -1 List — II
a. Consolidated Fund of India 1. Article 110
b.  Money Bill 2. Article 267
C. Annual Financial Statement 3. Article 266
d. Contingency Fund of India 4.  Article 265
5. Article 112
Select the correct codes :
a b C d
(A 3 1 2
B) 2 1 5 4
©) 4 1 5 3
(D) 4 1 5 2
QRN B2ReBR.
=3 -1 23 -1
&3 &3
a. PTUIT m0WT Y 1 N 110
b. TOTIRO ANT 2 NG 267
C. TOAET BITAS BEHT 3. DY 266
d. m@@%da AQ 4 R 265
5. KR 112
AOOINT %’o@@éﬁ%’@l 8;9033& 2008 ¢
a b C d
(A 3 1 5 2
B) 2 1 5 4
< 4 1 5 3
(D) 4 1 5 2

80. Which of the following is not a function of Staff Agencies ?

(A) Planning (B) Advising
(C) Consultation (D) Achieving goals
RN OIYTD Q208 PNET FTIONETNTYH QY ?
(A) 3pexRd (B) RO &30m00F
(C) IS (D) G o30egeany ToRNT
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81.

82.

83.

Who described ‘Soft Power’ as “the ability to get what you want through attraction rather
than coercion or payments” ?

(A) Noam Chomsky (B) Bruce Hoffman

(C) Joseph Nye (D) Steven Rothman
O3TY TRTTFODTY WA ﬁ@@ﬁd&a@ja’@l dw%@i? I P ROLPBINSNOB NN

STREBOD RVT NI TE, eDFES” oDdIYN VOIS ?

(A) B0e° mm@%% (B) 2RAf wog,°
(C) BRI £ (D) R3¢ SRE,°

Which of the following is not correct regarding the ‘Missile Technology Control Regime’
(MTCR) ?

(A) Was set up in 1987.

(B) Itis 34 nation grouping.

(C) It seeks to control export of missile technology, including drones.

(D) India became member in October 2015.
QRNFE  0305HTH %ﬁsé 30%25%&5 DONOT 2 a’cg;% (MTCR) R’ ®owoQRTOI

HOOIPDHTNTHEH DY ?

(A) 1987 OQ AR
(B) @b 34 Fo3 Ta& e 7o

&
(C) Boeafriday Ae0mos, § T 303pRIT AoIRETTD, AoHOGFHY T, &
eaczbgcs’.

(D) 2015 8303 LTS VBT RWA m%moﬁaé&

&l

Which of the following are not the writings of Noam Chomsky ?
(A) On Western Terrorism: From Hiroshima to Drone Warfare
(B) 9/11: Was There an Alternative ?
(C) The Future of Freedom

(D) Current Issues in Linguistic Theory
RRNFE 0IYY Je3° PR, THIT WOTNFINTORH Y ?

(A) 35 ﬁ—@ae e3CORTE 1 P ' LTREDEI &3 BRLI® WP TT
(B) 9/11 : o9=° deo® B0 @%3?&366 ?

(C) B PRUWT® Bx° GO

(D) 3IJos® QIRFT A’ é’)oﬁ 56 OO
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84. theory argues that ‘economic strength and military-political power as
complementary, not competing goals’.

(A) Mercantilism (B) Marxism

(C) Economic Liberalism (D) None of the above
‘BSRET WO, T'«J:@b” I 30 TIWBCOD JINGD’ FTOIIOE ONTIT 0e2on B30dH BRTH
ﬁfg@é% a"éoﬁ.@eg‘;eesmfg QOT O30 %m@oé@ m&_;«bgd’ ?

(A) H[BETRT (B) &g AT
(C) 38T LVTITT (D) 30eOT YT ¥
85. The Motto of is “One Vision, One Identity, One Community”
(A) SAARC (B) ASEAN
(C©) OPEC (D) OAS
S S0RBOIN 2o T oD WR0HT 2,0TD WeDWIOD’ TN,
(A) =oste B) s3003°
(C) 2B (D) 203"°

86. Which of the following is not correctly matched ?
(A) Critical Theory — Robert Cox
(B) Postmodernist Theory — Richard Ashley
(C) Constructivist theory — Andrew Linklater
(D) Normative Theory — Chris Brown

RNFE 03ITY BOO3TPN BeoBFoSTMYH DY ?

(A) INJEFT AT0T ~ optAL PR
(B) ©S5d3ReeZT 2308 — OWEE wde
(C) ROTBZTR %w@a}os — @0k ogeeso®

(D) DoELIR® HoDO — $7° LRF°
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87.

88.

89.

A theory that addresses the moral and ethical dimensions of International relations is
(A) Postmodernist theory (B) Normative theory

(C) Feminist theory (D) Marxist theory
eﬂoézﬁm{%@oﬁ ROWOPNY TRRCNCS AN %%B’é’oﬁa eﬁommh’%f@l Tehas %@903@
QNT.

(A) SEIZRCZTHT %@903 (B) Toaeedast odd

(C) RO 303 (D) @393 A° AT5203
< A N e

Who among the following defined National Interest as that which “states seek to protect or
achieve in relations to each other” ?

(A) Vernon Van Dyke (B) Joseph Frankel

(C) Robert Cantor (D) George Kennan
RITONTE 03T m%}@oﬁa STIRFODT “mzsémfa TOAT 6%%%’@%@3 Elawp)
HOWOFNTTY a’ama%@%@a 2IOITAFE.” Qo2DTIIN e;aq%’%%zrgé’ ?

(A) JIx° D° CSJ:’@ (B) Rt PTT
(C) ooeEsts B9oL3Te (D) 023 Fgt

was born in Furth, Germany; studied at Harvard; founder-editor of ‘Confluence’
Journal, and served as US Secretary of State and National Security Advisor.

(A) Douglas McArthur (B) Henry Kissinger

(C) Hillary Clinton (D) John Kerry
_ TS0 BEDEAOD FPTERY B0t TomGIERY DRE 0N Foo) 0E)
RYUES TRV FOTITTTINZT TN 9O TT TOBTIONE BEEOD eHH m%}eoﬁ
EA[oRCD FOBMOTTHN Cgtﬁo.

(A) &NIR® T FETT (B) X, syonot
(C) oD 3oe3s® (D) 2398° 30,
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90. Which of the following is not correct about Dependency theory ?

(A)
(B)

©

(D)

It is not based on Marxist analysis of inequalities within the world system.
Underdevelopment of Global South is a direct result of development in Global
North.

The concept of economic neo-colonialism was given a theoretical base, through
the works of this theory.

Prominent scholars are Fernando Henrique Cardoso, Samir Amin and Clive
Thomas.

©9TRI02)TD %@)033& HoWORATOZ BRFHNFE) 0330y T FOOIT YVITINTIYH QY ?

(A)

(B)

©

(D)

®NAI a‘éa‘éoﬁ.@%fﬁcgoja IR TINIINGD ST T é’)ﬁea’é’oﬁ: Elnpieln)
=0 2.

ARREYE TN SRR GAetdE YOZTERNEES BOFRoH
36T TN,

VX DAITD BRHET wéﬁe&é’oﬁa 83 %m@oéd WORBNNG DRVUT Tw"v@zo:%if
SSoDTY, ek,

TIEOER BT TIGREAR, HWTT WWIT DR ﬁvw@ FOWIRTTETO
T QTR

91. Which of the following is not correct about UN Human Right Council ?

(A)
(B)
©
(D)
2RINFY

Established in 2006.
On the basis of the UN General Assembly (UNGA) Resolution.
United States was elected to UN Human Rights Council in 2006.

Council promotes human rights education and advisory services.
O330Y T 5)?5;7«}0‘8"053 JINTT BB, ﬁaocé@oﬁaa’)gl 20208 FOOINT

OBTWINTVRY) DY) ?

(A)
(B)
©

2006 T FRBSRLOES

@

é’)eiﬁm’o?s" ma’mwé—m’ﬁoja NIEONT 3TITH 200D
2006 d@ é)?éf—w’of‘é’oja JINTE TH,NYG 200HEON WedToR) 233@0537\1%%33.

(D) ®omEOON B3 BTN @%9@ SNBY BT ﬁ@ﬁﬁ@é@l wg‘feaﬂ:’ogd’
92. Which of the following Regional organization has presently Nine Observer Members ?
(A) APEC (B) ASEAN
(C) SAARC (D) SCO
QINTS 03503 @5@6 HOSFE3IF0I TAQBEN WO ﬁb&@%m Tw’dﬁéd@l BROOT ?
(A) wBs (B) 20D
(C) =3fc (D) a2k
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93.

Match List-I with List-II and select the correct answer using the codes given below the

lists :
List - I List - IT
(UN Nobel Laureates) (Year)
a. Organisation for Prohibition of Chemical Weapons (OPCW) 1. 2001
b. Intergovernmental Panel on Climate Change (IPCC and i. 2007
Al Gore)

c. International Atomic Energy Agency (IAEA) and Mohamed 1iii. 2013
Elbaradei

d. United Nations and Kofi Annan iv. 2005

Codes :

a b c d

(A) i iii iv ii

(B) it ii iv i

O i ii iii iv

(D) iv iii ii i
e_u’égsl R, a’% 11 Brodn [RodY, 39N %mgpaw RoFeIND0T AOOINTT=TRY, wOA.

a—o’é.ga -1 a’% -1I
([rcwed Ce) QNTETTY) (==F)

a. TIRIONAT @@jn’e; JREP FoFFE3N i. 2001
b. D020 WHURSNTE DOT0S Yo FFEDOD RT3 . 2007
C. e;aoédm%}eoﬁa ©E0TY —-N’og" (IAEA) 303) ST we e iil. 2013
d. é’)eiﬁm’o?s" DB TR WIYR® iv. 2005

TOOT T'«J’O'@Qérﬁ’%fcﬁgl 8;9033IE =008 ¢

a b c d

(A) i iii iv ii

(B) it ii iv i

O i ii iii iv

(D) iv iii ii i

94. Which of the following countries is not an Observer member of WTO ?

(A) Afghanistan (B) Belarus

(C) Uzbekistan (D) Vietnam
“&@T\’@JQ O350 BeSy 5)?5; msé%séf_w’oéoja EDGEQE T«Idﬂ’é m%}ﬁg ?

(A) @@3@3 (B) wpeoa®

© W%@%@ﬁ (D) o%Hesye
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9s.

96.

97.

Who defined Diplomacy as “the management of international relations by means of
negotiation” ?

(A) Sir Ernest Satow (B) Harold Nicholson

(C) Hans Morgenthau (D) Bruce Hoffman
moﬁamd%&g’) “TOIT  WINENT  TNRVT BT woézﬁm%@oﬁa ROWORPNY

VBT DHOIINT” 02DTIN wé’g}%zﬁaﬁd& O339TH ?

(A) =®OS. a£m§s EdRe (B) £m®g NS
(C) =of, e ogkee (D) 2RAf Hog,°

Which of the following is not a principle of ‘Panchsheel’ (1954) ?
(A) Mutual respect for each other’s territorial integrity
(B) Mutual non-aggression
(C) Mutual interference in each other’s internal affairs.
(D) Peaceful co-existence
RRNFE oY Toeddew (1954) 3%5 ETQQ@OSJQ QIR AY ?
(A) @d’@%” R’ﬁ)@é’oﬁ)@l TORT MITIRTH T
(B) TTEHTTY BTz360 THI3TINTIYHW (JTAT 0P TNED ADY)
© @%oﬁ@%ﬁo TORTT 30303 aéw@c‘n’%fég ﬁaqﬁ’é @’)ﬁeéﬁa@d&
(D) 00&0H A® m@%

The ‘SAARC Yatra’ (2015) was undertaken by __
(A) Narendra Modi, India’s Prime Minister
(B) Sushma Swaraj, India’s Foreign Minister
(C) S. Jaishankar, India’s Foreign Secretary
(D) Ajit Doval, National Security Advisor
TTOE O3ZEY (2015) @=doT %ﬁ’%é’@%@é&.
(A) RTIT BPIRTN08, TTCOT, Weed
(B) 23903 DTETION eH08, Aoew), O
(C) RNTIT NWETION FTIONE HBAE IRF. WONJ0FTT
(D) Dok eod ITZo BOIBNMOT ©R3F 3eeeI’
&
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98. Which of the following is not correct regarding India’s position in Regional

Organisations/Institutions ?

(A) Shanghai Cooperation Organisation (SCO)-Founder Member

(B) Asia-Pacific Economic Cooperation (APEC)-Observer Member

(C) East Asia Summit (EAS)-Member

(D) Asian Infrastructure Investment Bank (AIIB) — Founder Member
@d’@é%” ToFWS  / Tw’oéﬁ%f@ J03ST w@am@{ 2003 BPINTY oY
AOOTEINTOH QY ?

(A) BogTo0d BT BOFTEIS (SCO) — W@@@’%” RIS

(B) <oy J903030T BHET THFT (APEC) - é’)%;é Tw’zjm’é
(©C) Tp=e @mé:iﬁ (EAS) - =%,
(D) Q&R SRUAITODE P& 239,03¢ (AIIB) —W@@ﬁé A

99. Which of the following is not correctly matched ?
(A) SAARC Summit, 2014 was held at Kathmandu, Nepal.
(B) ASEAN Summit, 2015 was held at Kuala Lumpur and Langkawi, Malaysia.
(C) OAS Summit, 2015 was held at Panama City, Panama.

(D) APEC Summit, 2015 was held at Tokyo, Japan.
RNFE 0IY T ROOIRT VReTHHBOIPNTIYH Y ?

(A) 2014 T %3¢ HWEE® FeTYE 37,0600 S

(B) 2015 T e3200DT’ BT sDSCA0OIGE Z3RLDDOZHT EAvICH) @om&&mf@
ZOON3D.

(C) 2015 T 20.0.00%%. RWEI® BJTHT BR0e® SNTTY 2TOHA.

(D) 2015 T &.&.0.%. AW 2Ta'S Ledodeend wTon.
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100. Match List-1 with List-II and select the correct answer using the codes given below the

lists :
List -1 List - II
(Books) (Authors)
a.  India Shastra: Reflections on the Nation In our 1. Rajiv Sikri
Time
b.  Does the Elephant Dance? : Contemporary ii. Shashi Tharoor
Indian Foreign Policy
C. Challenge and Strategy: Rethinking India’s iii.  Sumit Ganguly
Foreign Policy
d. India’s Foreign Policy: Retrospect and Prospect iv. David M Malone
Codes :
a b c d
(A) 1 iii iv ii
(B) iii ii iv i
O i ii iii iv
(D) ii iv i iii
wégsl R, a’éa I1 Beodn BRoAR, IFN @Jaééd)ﬁ RoFeINLo AOOINTT=TR, wOA.
w3 —1 w3 — 11
& &
(MemnYd) (JeauzTd)
a.

QOBOS® TIF : OPT Y, &I & JeRIT 1 Todeat A,

AR° eﬂwzs%?:m@

b. ®x° & @O0’ G, ? T0L30TTD 1. 3D FTLRTE
QORODT® 0T AR

c. Wdoes®  omd 1&32% . DRoson® il BWIT Nonwd
QOROIIA® 0T —aé)N

d. Q0&OJIAE 0T HdY : TeIR; iv. B 0. TBRIT

©O%® TIAT,

Todesned :

a b c d
(A) 1 1ii v ii
(B) 1iii ii v 1
O 1 ii 1ii v
D) 1 v 1 1ii
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